LEINS T -1l /

HEHTOYTKEEaLS —
3\
mn
POy )
Ef
ea ﬁ
Bk TE g
f ~ O E]]
j =
i b =997 - L=2000 l
2 = =]
W - ERR =
- I % (mm) SZER B
- a b < e h f L (kg) L
50 300 70 60 500 50 997 128
5002 50 300 70 60 500 50 2000 256
50 300 70 86 700 50 997 178
700% 50 300 70 86 700 50 2000 356 =
:;E
mERT WEEHEE 2]
|1 BICBERT 158 | (0. BICBET 258 |
500 500
= 17 -1 fl
HELIIL m S | L]
S o
i b ]
a
WEDS K UIREHERMRIR (10m4f=r)
o i ~ & (mm) E ® I
a b c d h Bt (m?) | HELSIL (M) | BEILIIL(m’) .
5008 400 300 100 10 500 4.00 0.03 0.0120 By
7007 400 300 150 10 700 4.00 0.03 0.0150 ;g
B
=
~ \d
P ki a s —
=
—_— e = =
KIEDAEETHREIRTT i
=
15 600 50
15 | i -
; KEBVa)LF'—
FAk-hE Y
p E=Ex %ﬂ
o O 1
o= 2 RS &
EA by Y &
15 600
<
H 10 aﬂ;
ol 2 f
E¢ \l%%ﬁﬂﬂﬂl
. 615 |

2023mnsm 263





